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No. of Questions/swt #Y dear ; 120
Thne ; 2 Howrs) [Felf Marks : 360
HAY : 2902) Mgk ;360

Instruction :

fim: This paper consists of Objective Type Questions and is divided into
Two Sections (1 & I} as under :
WW—WWMmmﬁaiwﬂwa&m,ﬁma,
drar T Y afilg 4

(a) Section—1: Consists of 104 Objective Type Questions,
TOE—-I: d 104 agheed o d

(b) Section—II : Consists of 16 Objective Type Questions on (I} English
Language and (11) Hindi Language.

wvE—I1: ¥ 16 Wmﬂ}mﬂmmm}ﬁaﬁwtm
T S §

A candidate is required to aitempt as many questions as he/she can of
Section-1, and questions of ANY ONE of the TWO Language papers
(I}English OR (1) Hindi in Sectiop-I1.

et ¥ sy : 2 :
X ﬂ%ﬁ%ﬁﬁl\f"“@f’ 1% (1) i3t a1 (11) femh sy oy

-—.

(1)
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Note : (1) Each question carries 3 (Three) marks. One mark will be deducted
for each incorrect answer. Lero mark will be awarded for each un-
attempted question.

Y e 3 () o W R yrRiw AT T & [0 O A e
ST | S AR T WS R 8

(2) If more than one alternafive answers seem [0 be approximate to the
correct answer, choose the closest one.

ﬁW%%muﬁm%ﬁﬁmﬁ,ﬁﬁwwﬁﬁ{%

(3) Fach question is followed by Four alternative answers (1), (2), (3)
and (4). Only one of these answers is correct. Select the correcl
answer and record it against the relevant question number by darkeming
{he circte with Ball point Pen on the Answer Sheet, as per the guide-

lines.

rﬁﬁw?ﬁw%ﬁqﬁm@ﬁnﬁ%ﬁ:%(l}.(zj,{s)mm}a‘%ka'fﬁ
cartan o & 1w & e v A I WA R ) W IR S $ife ad1 Th
mmm-wmwmm%ﬁmwmaa (vivemd) =
mmﬁwﬁ:mmaﬁaﬁzﬁ |
) SECTION—I

wry—I

——— ———

i.  Which equipment tra nslates printed text material into Aural English ?
(1) Sonic Glasses (2) Optacen
(3) KurmeiiRcadingMachinﬂ (4) Laser Canc
e £ a1 SR Y T8 S A ol (e sfen) B ST e 7

L

(1} ThiA R

(Confinued)

(2)
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2. Which one is prenatal preventive measure for mental retardation 7
(1) Early screening of disabled
(2) Surgery to correct Hydrocephaly
(3) Vaccination of the disabled

(4) Amniocentesis to detect chromosomal abberations

AR 5 & w5 of 9 e g 2
(1) Fuvrs awvs 6 imm ohifm

(2) TR B 5 w0 F oy whh

(3) Frears %t Jremam

(4) T 3t o} reT & TRt TR

3. Damage to which structure results in auditory processing disorder 7
(1) Inner ear
(2) Outer ear
(3) Auditory Nerve

{4) Auditory processing centres of the brain

e ateT & efrs B3 3 mnhﬁﬁnﬁ(wﬁzﬁﬁ@rmnfsﬂmt}ﬁwm i
(1) et

(2) =g ool

{3) 39w ol

(4) wfErE 3 sy sl

(Zhiryy {)1-‘?;,.}
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4 A student with a senscrineural hearing loss is most likely to experience which
of the following ?

(1) Periodic ringing in the eat

(2) Reduced ability to hear what is said in noisy seiting
(3) Extreme sensitivity to high pitched sounds

(4) Episodes of temporary hearing loss

T A A mwaﬁﬁmﬂﬁmmwmmmﬁmﬁm
g7

(ljmﬂﬁﬂu'q~wmﬁ%lzﬁmmm
(E)Wmﬁlwﬁfhﬁ?ﬁmrﬁmﬁgﬁzﬁmﬁﬂ
(3) e fira anef eafat < Wi HaTeiTer
{4)mﬂmmﬁﬂt‘mﬁ

5. Which of the following is not an important characteristics of Gifted children?
(1) Uses a lot of common sense
(2) Less curious
(3) Highlevel of verbal ability
(4) Advanced comprehension
ﬁmﬁ%aﬁﬂtﬁﬁﬁwﬂmﬂﬁﬁwﬂﬁﬂﬁ% 1
(1) TR T atforeh s
(2) % g
(3) 7 i e &l
(4) 3 T

(4) {L‘ﬂﬁﬁn:mﬁ
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“Voice Trainer' is most useful for which category of diversity ?

(1) Low vision (2) Autism

(3) Mental Retardation (4} Hearing Impaired
‘Fiag T e e 6 0 & R v vvew 4 7
(1) 39 gfe (2) et

(3) AfEH 7= (4) %M HETM

Adaptive Skill Areas include all ofthe following except

(1) Home Living (2) Functional Academics
(3) Intelligence (4) Communication
7 e a3 i T R 7

(1) me ¥ w2 = = (2) wraters diw

(3) 7ig (4) wET

"Jr*hir:Jh of the following is an example of perinatal cause of intellectual
disability where there is a significant period without OXygen oceurting during
or immediately after delivery ? )

(1) Anoxia (2) Pronoxia (3) Anaphylaxia (4) Dysnoxia

e 7 & i v = 9= 3 o () =, #h 5
Mmmmmemhmmm:‘?tmmm

e @R ) TR () i

f Turn GW.':-}



LT )

- T

17P1247117 (1)

9.

14,

i1

Which ane is not very useful for visually impaired ?

(1) Taylor Frame {2) Brailler

(3} Telecoil | (4) White cane
9 5 % g w g wgm & T e amerd i 2 7
(1) T (2) &R

(3) Sefiiam (4} T T

In luclustve Education

(1) Only specind naeds children leamn together.

(2) Seggregation is given importance,

(3y Normal and disabled children team together from the beginning.

(4) Special needs children study with normal children after acquiring required
skills,

A foa #

(1) 3w fafire srevasm a1 ares a3 ved § )

(2) GUTA S wEC fmwm g |

(3jmmﬁmﬁ:mmﬂ$%ﬁm:ﬂﬁmaﬂﬁﬁ |

() Tufi SRR A e s Bet @ mh & " g SO §
g v2d ¥ |

Another name of 'Dry Eve'is

(1) Anirida (2) Xerophthalmia (3) Cataract (4} Albinjsm

o b’ (e 9TE) AW
(1) GRS (2) Firdefim  (3) Mo @) R

(Hh (Canineed
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What is the major effect of hearing loss ?

(1) Impact on communication

(2) Inability to develop relationships

(3) Inabiliiy to be involved in cocurricular activities

(4) Problems with acadeniic success

¥aw 719 & wad s wmaE a7

(1) A0 W e

{2) T} % fawm 8§ waam

(3) wizw el fraadt & anfire 213 & areom

(4) Vider ewemalt i oomn

The WHO definiticn of Low Vision is

(1) Visual Acuity 6/60 to 3/60 in the better eve with best correction
(2) Visual Acuity 6/60 to 6/18 in the better eye with best correction

(3) Visual Acuity 6/18 to 3/60 in the better eye with best correction
(4) Visual Acuity < 3/60 in the better eye with best eorrection

<7 e T oo o G @ TR VAT £

(1) %7 Jom & wmer dwen 3% F gt fiwwrm 6/60 3/60 T

(2) %8 GO & W A5 37 1 o e 6/60 D 6/18 7

(3) 718 U % w9 A% 3 # 5 dewm 6/18 7 3/60 75

(4) %0 gk & e e 3 3 <3/60

(7)
(Turn Over)
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14, Compensatory Intervention means
(1) Giving the child new ways to deal with disability.
(2) Overcoming disability through training.
{3} Providing proper ecucation.

(4) Providing vaccination programme,

wiges FRaay F1 a §

(1) T i Rawal A aaghm $0 F 7w i |
2y v % ean & RuswEm w0 Sfie TH FE |
(3) 3 Foen SR FE |

(4) TAET FEwER T I |

_15. Thepsychoeducational approach for training learning disabled views
(1) Leaming disabled as & patient

(2} Lcim;inf, diuablud us learner waiting to be taught

3) Both (1) and 2)

(4) Neither (1) Nor (2)

s s 5 Yo 3 e g & HFER

1y TR o TR T R
(z)mﬂm&mmaﬁﬁtﬁlﬁlmlﬁmﬁﬁ 1
(33 (1 A(2) T L

()78 (1) AR ()

(8} (Contiit.
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The aperture controlling the amount of light entering the eve is called

(1) The cornea (2) Ciliary muscles
(3) The Pupil (4) The lens
ﬂaﬁﬁmmﬁmﬁmﬁwaﬂﬁuﬁaﬁﬁmﬁbﬂ
(1) Fffa (2) Tfematt ntmdfrat
(3) et (4) @
- The visual cortex is iocated in the —___ lobe of the brain,
(1} Oceipital  (2) Tempoal (3) Frontal (4) Parietal
feres & R (571%) % 770 ¥y i g 2 9
(D) wfffes (2) 2 (3) szt (4) Yogzm

Which of the followin & Statément is inconsistent with the Medicai Model ?
(1) The child is valued in their own right

(2} Impairment is the focus of attention
(3) Society remains unchanged

(4) Intervention is defineq by diagnosis

fﬂﬁﬁﬁqmmﬁ%ﬂumﬂm??
{ijaqﬁ-mﬁwm@% I
(?.}-n%mm,mﬁaﬁﬂﬁﬁgﬁfﬂil

(3) w7 srefaffa 8

(4) m@qﬁﬁmmﬂ—“—“—““ﬁhhﬂ-- -

A9) o
(Zitryy Cvep)
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What does SEN stands for 7
{ 1) Special Exceptional Need

(2) Special Educational Necd
(3) Special Education Need

(4) Spucial Emational Meglaet

T ?:n s T Tl ﬂﬂi q
mﬁmqﬁwm

(2) S R i3
(3) dua g e

Which of the foliowing factor causes Down's Syndrome ?
(1) Chromosomai Anomaly

(2) Oxygen deprivation

(3) Newral wibs gefeets

(4) Accidents
ﬁﬁﬁﬁwmﬂwmaﬁ#m% ?
(1) PR feiTldl

(2) S $1 %

(3) = T fe R

() TR

(100

{Continge?
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Which of the following is a characteristic of Echolalia ?

(1) The student mimics the speech of others

(2) The students voice may be either too high or low

(3) The student displays interruptions in the flow of speaking

(4) The student has no capacity to speak

7 9 @ gt R wi @ R d 7
(1) o gadt 1 anoht ) Foer a2

(2) o™ 1 3T 31 Al 7 o9 A a1 agw oif
(3) o1 ST % WA A vz ) welfe s d |
(4) oT ¥ Aent ) g A T R R )

For persons with disabilities, reservation in Vacancies in government esfah-
lishments has been increased from

(1}3% 4%  (2) 3%to 5% (3) 3% to 6% (4) 3% to 3.5%
mﬁmﬂﬁﬂﬁﬁﬁﬁ:ﬁmwﬁﬁmmmm&mw% ?
(D3% 84%  (2)3% 35%  (3) 3% ¥ 6% (4) 3% & 3.5%

Accessible India Campaign was launched in
q@:ﬂwsﬁ%m%ﬁmmmg&m?

(1) 2015 (2) 2016 (3) 2014 (4) 2017

‘11
{ (Turn ¢ o
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24, The Rights of Persons with Disabilities Act, 2016 replaces

(1) TheNTA Act. 1999
(2} The RCT Act, 1992
(3) The PWD Act, 1993

(4) The National Policy jor Persons with Disabilities, 2006

7 TRew i i i femfaiadie o, 2006 N A frrm M S @ 3 7

(1) % T T G T, 1999
{1) o T {'fiu 3“?::- R 1902

(3) 2 4, Tocg, o TR, 1995
(4) T JoE SRR e wiTe fog Rewgated, 2006

£
£y

UNESCO contributes n

(1) Ensuring 1o access all kinds of education
(2) Establishing Ir;dustr:,f in the world

(3) Providing justice to weaker sector

(4} Digitalizing the world

TR GER G
(I)Hﬁmqﬁﬁmmmﬁﬁsgﬁﬁmﬁ:
(2) foa 1 wein wfiE & A )

{3y TR, = A e FA T

(4) o = Fefrem w3 |

(12) ESFTHIENTS
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NCERT provides academic and technical support for improvement of
(1} School Education

(2) Higher Education

(3) University Education

{4} Rehabilitation of children with special needs

%ﬁniamaa#ﬁm@fmﬁmﬂnmmt—_%mig
(1) forerereft fver

(2) = fen

(3) Evafered fie

(4) Py mrzaarmnsit art awerst % e

The important mission from various missions of UNICEF ig
(1) Tocnrich the learning programme in higher education

(2) To fulfil the economic needs of parens

(3) To ensure the trainin & programme of administrative education officer
(4) To advocate for the protection of Children's rights

g % Rl F A O e e 2
(f}m&mﬁmmﬁﬁmm
EZJW-ﬁW%mﬂTﬂWﬁ‘mﬁiﬁm
r31mﬁ$ﬁmﬂm%wﬁmmaﬁmm
{Jymﬂﬁ%ﬂﬁmﬁa&wﬁgmm

e {Tiwrn ¢ Nier)
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30.

Sarva Sikshin Abhivan (S8SA) Scheme of MHRD promotes
(1) Integrated Cducation (2) Segregated Education
(3} Inclusive Educaiion {4} Special Education

ot e B S ) e A W S 5

(1) wHta o (2) g fhar

(3) T fen + (4) frde i =

Secial puhering, unconscious learning and imitation are examples of
(1} Forma! education (2) Distance education

{3} Informal education (4) Non formal education

s ORI, T AR AE T6G IR 3

by B Ben a2 ‘f—‘m‘wmqﬁs apd 78 S0’ @ wuT e (i

(1) it 3 3 (2) ¥5% % g0 (3) HindEm (DR

—_—

(1} agenfies faen & (2) To fon %

£3) SRy Rig (4) Prefraifer fen &

'Integration Education’ concept was given by

(1) Aurobindo  (2) Kilpatrick (3} Plato (4) Gandhi

‘i (e’ weers B

()i ge (2) PelEwgm () WA (4) Tl % 3R
ducation without character and churacler devoid of purity would he & v

pocd' is said by

(1) Gandh 2} Nehru (3) Tagore (4y K. H. Home

3
vk
iy

{ (4) ((omlin
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The Right to Education Act comes into effect from

(1) 10th April 2010 (2) Lst April 2009
(3) 27 August 2009 (4) 4th January 2005
a1 & SRR T ey Ee A

(1) 10 38 2010 % (2) 1«8 20099
(3) 27 v 2009 & (4) 49==0 2005 &

The new disability bill is known as Act —

(I} The Rights of Person with Disability Act, 2016

{2} The new amendment bill for Person with Disability Act, 2016
(3) The Person with disability Act, 2017

(4) The New Rights of Person with Disability Act, 2017

¢ R fae ) 9 S 4 6 HE H w9 A

(1) P s dren sifufam, 2016

(2) R o e, 2016 ¥g 7§ e fi

(3) P W wfafem, 2017

(4) % P affian fam), 2017

Which amendment in constitution talks about education as a compu lsory right ?
(1) 89th (2) 86th (3) 33th (4) 96th
éﬁﬁﬂiﬁﬁﬂmﬁiﬁmﬁ[mﬁﬁﬁﬁﬁmﬁﬁ]ﬂWQ ?

(1) 29 3 i 8o (3) 83+ (4) 963

15y . __
{ | (Torn Over)
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35, The full formol LE.D.C. is

(1) Inclusive Education for Disabled Children
(2) Inclusive Elementary Education for Disabled Children
3) Integrated Education for Disabled Children

(
{4) Integrated Education for Deaf and Dumb Children

\ﬂﬁ_’n -';i:l .\':'aFi-'J l'fl.:. £ EU ® %
(1) Pien wrer i werae frn
(2) P9I ATcTeR & WM Snuf fen

(3) froe areet ¥g wifes e
{4y % v wia el B wuie e

4. Project Integrated Education for Disabled (PIED) was implemented by whic’

igeney ?

(1) NCTE (2) RCI

13} NIVH (4) NCERT
ﬂ:;ﬂaﬁuﬂo@@?ﬁﬁmﬁﬁﬁmiﬁ ?

(1o i & 4 (2) 3Mo Hlo AT

{3) T 31T§u ala Uo (4) e Hlo in MM Fo

v Which of the following is appropriate for integration ?
. (1) Integral part of general education system

i 2) A partol general cducation system
(3) Apart from general education system |
(4} Gencral schooling education system
et 1 & @i 3 9 ST 2 7
(1w fen vgfa e wm
¢2y mrres Fhan wgf m v m
(3) ara Fvn wgfe & o
() e T e 75

(16)

{(Coniding:
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I. B. R. slands 1ur

(1) Individualized based rehabilitation
(2) Inclusion based rehabilitation

(3) Integration based rehabilitation
(4) Intelligence based rehabilitation

W o AR & T0 w9 R

(1) <aftver s gt

(2) v stnfm gt

(3) T amaTfte gt

(4) g st gt

The Philosophy dominating our schools today can best be stated as

(1) Supemnaturalism (2) Pragmatism

(3) Essentialism (4) Realism

ST RN Rrerrerdt # oy wwidr g T A g ded & v b

(1) st (2} werrER

(3) werdar (4) Tuntaw

Where is the headquarters of UNICEE 9

(1) London (2) Pakistan (3} New York (4) India

S eI

(ead @ ol () e (4) W i
(17)

{IHI"H O Iper']
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i

i

L.

i~.
1

When was the Rehabilitation Council of India established ?
R (A Tfteg e wita R ow g 7

{1) 1989 (2) 1988 (3) 1987 (4) 1986

Flow many chapters were there in PWD Act 1995 ?
Froume w1 arfifror 1995 4 f gegm 4 7

{1y 14 (2) 16 (3) 18 4) 20

v Goeekwoird 'Skhole’ means

(1) Pleasure (2) Entertainment {(3) Liberal {(4) School
i W e o g
VLT (2) T (3) I (4) T

21 bnusroational Year of Disability was celebrated by UNO in

Y TPEH g0 SAUgH faereinen &Y e waw R a1 ?
17 1981 (2) 1983 (3) 1990 (4) 1984

5. 13vawhich one, the disability is the resultant 7

(1Y Tmpairment (2) Leaming deficit

(3) Attention deficit (4) Lack of understanding
S i 4 T w3 g P g

{4y el (2) =fm AR

0y s § (4) ooy o

{.13 } {Comiime
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5. Which teaching method was evolved by Naturalism ?

Salaimanca conference was held in
(1} Spain, [994 (2) Spain, 1996
(3} ltaly, 1594 ~ {4) Denmark, 1997

A TR §U8 BT 7

(1) ¥, 1994 (2) ¥, 1996 #
(3) zz=it, 1994 (4) ¥, 1997 §

What is the dictionary meaning of Rehabilitation ?

(1) Proceed to new condition
(2) Proceed to normal condition
(3) Return to matural condition
{4) Return to previous condition

LEE R e B e

(1) 7 smron ) aw g
(2) ¥ s <t ons weA
(3) wslimn st 6 ot A
(4) 7@ argen £ af #han

(1) Heuristic  (2) Play way (3) Scientific

THiiar A % @ fowm Rty o o 2

(1) areder T T Y e
(19)

17P1247117 (1)

(4) Project

{4) Wi

(Titrn ey



477 (1)
4%, Which of the method of teaching learning will be most suitable 1o, &
consiructivist approach ?
{1} Lecture {2) Demonstration (3} Project (4) Story telling
fitgree rfipm oy B i B dremes Toom & Y awgs A 2
(1) rAm (2) waxf (3) oiare (4) wE T
Sit, Edgar Dale’s cone of experience talks about what 7
(1} Varied experiences (2) Teaching methods
{3y Stages of learning (4) Evaluation
trem ¥ ) sl i frerg Bee & it am wdt R 7
(1) ¥ T & S - (2) e faferat
(3} srm & TN {4.] A

53, The teaching machine first developed in 1920 was the

{1} Program Instruction (2) Drum Tutor
(3) CAl (4) Mathetics
1620 7 st qeefl aw fogw 9% =0 @ @

(1) sifirf S ) WE
(3) P FTTH FAn AN

(20) (Contiinied:
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Thie crror rate will always be less in

(1) Linear Program (2) Branching Program
(3) Mathetics Program: (4) CAI

i < T T gt 2

(1) W st (2) Wiy sifinem

(3) T s (4) Fraee e sivorm
Which of the following is group of learner centred methods ?
(1) Project, Assignment, Lecture

(2) Project, Lecture, Demostration

(3) Projesy, Heuristic, Assignment

(4) Project, Story welling, Heuristic

7 Ha Rftet o wp g

(1) wfersmn, arfir=m, smeam

(2) tr?(aram STETA, Feui

[ﬁﬁ"ﬂ UV-:!'}
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54. Carl Roger is associated with family of teaching models

(1Y Information Processing

(2) Social Interaciion

{3} Personai Development

{4) Behaviour Modification

wisk et aremfam ¥ e wfel % wp @
(1) g arfiareor

(2) st Fafwm

(3) =i farra

(4) sFaER gRarH

~ Redireetion is the component of which teaching skills ?

(1} Stimulus variation
{2) Questioning
(3) Probing Questions

(4) lustrating with examples

b e B 1 e QATE 2 7

(22}

Ll
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36. Barrier in effective classroom communicarion will be
(1) Lack in interest
(2) Same level as learner

(3) Use of teaching skills

(4} Clean classroom

BT Y & e e 3 aves @
(1) ¥R =1 =

(2) Ffirm oot 55 e

(3) rerr w37 ity

(4) == v vy

57. At understanding level of teaching the leamer should
(1) See relationships. '
{2) Remember Things
(3) Present things.

{4) Draw conclusion,

a&um%ﬂmmmaﬁma,—dfqe;
(1) Fdw Jmr e |

(2) a1 @ fgd |

(3) S8 w0 =idd |

(4) P frer il

23
i) (T Orer)



58, Teacher plans his lesson
(1) AtPreactive stage
{2} At Post active stalge
{3) Atintcractive stage

{4y At Transter stage

eI e A T A R
(1) g e wEen 4
(2 e SR e
(3) arafEa ewn o
() ST TR 9
&0 The envitonment in the class of an effective teacher is like
{1} Democratic society
(2} Laissez faire society
(3} Autocratic sogiety
(4) All of lllle above according to the situation
:@gwﬁmﬁmmﬁmﬂﬁﬁﬁﬁmﬁmﬁWQ
(1) SRR T
(2) el T

(3) g AT
() feafa % e IR W

[24} (L it



il

61,

17PR247117 (1)

The tiost appropriate indication of learning is
(1) Inculcation of knowledge

(2) Madification of behaviour

{3} Personal adjustment

(4) Acquisition of skills

3T % T 3w w2
(1) 71 T w9

(2) =5azr =1 yirady

(3} =afea wmmie

(4) =1 = fergor

Which ofthe fo lowing correctly describes individualized instruction 2

(1) Teachers only present lesson materials in a visua) way.

(2) Teachers adjust content to meet the neeg of one, rather than al| students.
(3) Teachers adjust instruction based on individual needs of students,

(4} Teachers only present materials the way they were taught.
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62. Which of the following is NOT areason to use individualized instruction 7

bl

(1) All students Jearn the same way.

(2) Education should not be 'one size (its all

31 Siadents process informaiion differently.

1) Students can show msstery in different ways.
Wmﬁﬁmmhﬁﬁmm%mﬁﬁwmiﬁﬁ ?
(1) ot B3 U A T da

(2) o ‘s s R fee B e |

(3 e TR ) STem-orem i § aRder g |

(4) o swr-aem T ¥ were wite R oaw E

s the research method that is used (o solve professional problems.

(1) Basic Rescarch (2) Applied Research

(31 Aciion Rescarch (4) Phenomenological Research

g qmﬁﬁﬁﬁﬁﬂﬂmmﬁﬁmﬂﬂ?ﬁﬁmﬁﬁmm% |
(1} TETg T (2) STTIAFTERT MY

(3) R g (4) nireffma 0y

A conjectiral stutenient about the refationship belween (wo oF more variabio:

is defined as

(1y Rescurch Problem (2) Hypothesis

(3) Reszarch Question (4} Problem Statement

AaA A fzﬁﬁﬁiﬂimmﬁ%ﬁmﬁméﬂﬁﬂmzﬁwmﬁ% :
(1) T (2) e

oy g 9 (4) T R

{Eﬁ‘; (Lt
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Which of the following is not correct statement 7

(1) Evaluation involves value judgement.

(2) Decision making and evaluation are independent from each other.
{3) Evaluation includes mensureinent.

(4) Evaluation is a continuoys process.

AR e s Y ?

(1) feom H 5 S wniie @ g |

(1) T 9 0 e oo o Tt A e g

(3) oA & g Pafta g g |

(4) TFar O wam afs § |

Which positional measure of central tendency is useful for data with extreme
vahes 7 :

(1) Median (2) Mode. _ (3) Mean (4) Percentile

Awsl 4 o T v S B R R A dh v F R am m
T S 4 7

(1) i (2) =g (3) weme (4) wftwrais
Which level of measurement nllows maximum mathematical operations 7
(1) Ratio (2) Ordinal (3) Interval (4) Nominai
1 7 1o TR A i Bearedl ) P e o e 2 7

(1) s (2) mw (3) saUe (4) 7ifim

T
(Tiirn Overy
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68, Which measure of central tendency can be calculated most casily ?
(1} Median (2) Mode (3) Mean (4) Percentile
FET gt % Reg wm Ft e 3§ Fewen @ ww g 7

) BT (2) sEers (3) e (1) sbans

69.  Which of the following research conclusions cannot be generalized ?

(1) Action Rescarch
(2) Applicd Research
(3} Fundamental Research

{4) All rescarch conclusions can be generalized

ey | A e Ay % Freeal w1 anfiae 19 R o wea @ 7

(1) Braras M

(2) SETATIETS Y

(3 e st

¢4y i gt % aRemEl @ iR e 3

. Which the type of test is most svitable for a teacher o design a remedi!
teaching plon 7
(1) Placement Testing (2) Norm referenced Test
(3} Criterion referenced Test  (4) Diagnostic Test

Eﬁi%wﬁmﬁﬁﬁﬁmmmﬁﬁ%@maﬂ?ﬁqﬂwzﬁm W2

(1) e Titerm (2) & Tehi giters
3y G A Sl (4) Fremes Thew

[28) AL G
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72.

A distribution is given as :

Class Tally Frequency  Size of class
Interval Interval
30-39 OB f i

the correct value for f, i and X are

(1) 13,%9and 34.5 (2) 11, 10 and 34.5
{3) 13, 10and 34.5 (4) 3,9and 34.5
SR Lo B Ty —— 3

Class Tally Frequency  Size of class
Interval Interval
30-39 Hi B 11 f i

£ ol X & fore Juges o T 7
(1} 13,93 34.5 (2) 1,103 345

(3) 13, 10 3 34.5 (4) 3,93k 345

Compute the median for the following data :
R it & fog et 3w ) e & .
8310,5, 2, 11, 14, 12

(1) 9 (2) 8 (3) 10

(29)

17P1247117 (1)

Midpoint of
Class Interval

X

Midpoint of
Class Interval

X

O

(Torn Overy
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5 ¢ind the product moment correlation coefficient between the following two

sitt ol scores

et X g 15 18 2 17 19 20 le 2%
ik Yo 40 42 50 45 43 46 4l 41
il Bu o wPAE § e TR o wEmEy T R
R 13 18 2 17 19 z0 16 21
v T o- A 47 50 45 43 46 41 4l

1) 0.65 (2) 0.60 (3) 0.55 (4) 0.50

“iich is the correct formula for computing rank-order correlation cocfii-
5 g

Lo o T - vEmEaY M @ A R

(L P 6Tt N(N -1) (2) F=1-(6Z’)/ NN -1}
P == (6EdT N (4) P-—-(ﬁlﬂJ’]f{N-l}

Vied the ranlk correlation coefficient from fotlowing set of data :
mantent A n ¢ D E F G H
Seore X 1 40 S0 20 10 45 22 18
e s 75 60 12 11 38 25 15

o el T o, dgEE T T I

Tl A B C¢C D E F G H
e w30 40 50 20 10 45 22 18

|||||

55 75 60 12 11 38 23 13

e (2) 0.68 (3) 096 (4) 0.69

{30) (Continued)
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. The name of Lewin is associated with which type of research
(1) Applied Research (2) Design Rcseﬁmh

(3) Fundamental Research (4) Action Research
A 1w ew & e A ol 7

(1) Sewarme 0y (2) fomm wig
(3) T AN (4) s wg
. 'What will be the value of following : "C?+%C3
Frferfgs & ar s @ ;. 4C, +°C,

(1) 14 (2) 4} (3):12 (4) 15

. 1f demand functionis p=12 - hmdtntnimstﬂmnhumsc-ﬂx x°, what

will be the equilibrium price 7

e 4P e p= 12 - 4x R aﬂtﬁmw c=8x — ¥, A Wk 1w w0 M7

(1) 20 (2) 333- (3) ﬁ “4) i

. If arithmetic mean of two numbers is 1§ and Gemnctnc mean is 3 wl'mt will
be the numbers ?

R D i S M 108 o i e 82, A afw T AR 2
(1) (1, 9) ) (2, 6) 3) 4, 16) @) (12, 16)

+ Coefficient of variation of following series will be
RetitrRrm soft w1 fern ot #m
A | 2 3 4 5 6§ 7
f 6 12 18 26 16 10

(1) 12.4% (2) aD2%a — {3} 20.6%
(31)

{4) None of thes

(Turn Oyer)
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8L What is the correct sequence of cognitive development according to Piaget,
in the foliowing ?

(1} First Abstract thinking, followed by intuitive thinking, reversibility of
thoughi, and object permanence in the end.

(£} First object permanence. followed by intuitive thinking, reversibility of
thought, and abstract thinking in the end.

(3) First object permanence, followed by reversibility of thought, intuitive
thinking and abstract thinking in the end.

{4) First reversibility of thought, followed by object permanence, abstract
thinking and intuitive thinking in the end.

frar & e R % g % e, Fefafer i SR m el s e ?

(1) vz sqd Rram, aqueem wim-vw R, fcy fan she o om 4
TEg - |

(2) wedt weg-waTfied, FaTeET Aia-v9 fem, Freit frem s, o om o,
I T

(3) Vet Tg-enfired, AT fenfa frew shen, s-we R, o wR
i f ) :

(@)1 fasinti faem afien, oo wg-enfw, ol fe, o o
qia-ug R=E |

(32 ) (Camninimedt
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82. Which Intelligence (ests are generally more used for selecting students for a
particular task requiring average mental ability ?

(1) Individual verbal tests of Intelligence

(2) Performance tests of Intelligence

(3} Group tests— verbal and nonverbal of Intelligence
(4) Individual nonverbal tests of Intelligence

ﬁﬁﬁﬁrﬁ@ﬁﬁﬁmﬁ&mmm@,ﬂqﬁg&uﬂwm
wﬁmm:mﬁﬁmw%ﬁvﬁﬁmmmﬁ%%?

(1) 3 mis gy voe -

(2) 38 & () = T e
(3) Wt 3% wherns.. e @ srenfeem
(4) dufers smfees 1fz voam

83, Which ofthe following is not an example of Individual differences ?

(1) Difference in culture of individuals,
(2) Difference in height of individuals,
(3) Difference in interests of individuals,

(4) Difference in aptitude of individuals,

ﬂmﬁmﬁﬂ?m#ﬂﬁmﬁﬁrﬁmwmq_ﬂ_t ?
(1) =2t & wrpfh o |

(2) =fost & d=mé F armm

(3) =t % R & s |

(4) =Rt % e 8 s |

33
(3 (Tirn Over
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84,

B

Who is a creative learner ?

(1) One who is very highly intelligent.

(2) One who is capable of scoring consistently good marks.
(3) One who is imaginative.

{(4) One who is conventional.

ot femd] A R 7

(TR wma s IaFE |

(2) 7r < P oitanad 7 wved ofw W W R |
(3) T o Fewnie )

(dy TR A g R )

An important characteristic of 'Formal Operational Stage’ of mental develop-
ment i$

(1} Ability of evaluating hypotheses.
(2) Concrete thinking.
(3) Fgocentric thought.

{(4) Lopical Multiplication,

b R & staetes dhnareTs sen’ H OF ge far ?
(1) ulteeaadt & HEarEA 6 A |

(2) 7 ferrt |

(3) s T |

(o y i iR |

(34) (€ ety
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87.

17PI24T1T (1)

Intrapersonal (personal-self) intelligence is associated with which theory of
Intelligence ?

(1) Two-factor theory,
(2) Multiple intelligence theory.
(3) Three-dimensional model.

(4) Group factor theory of intelligence,

e e yf, 42 % ke g & afm 4 7
(1) 5 = s g
(2) =g 9% figra |

" (3) fe & B |

(4) 3e =1 wgE-Fn Rigrg |

-Negatiﬁ-'e reinforcer ;

(1) increases the probability of occurvence of desirable behaviour.
(2} decreases the probability of occurrence of dt?sifﬂbll: behaviour.
(3) increases the probability of occurrence of undesirable behaviour.

(4) is actually & punishment.

HUTHS (e
(i]mwiﬂﬁaﬁﬁma&m&mél
{2]mw%aﬁﬁaﬁﬁmﬁmmtr
(JJNWWﬁﬁHﬁaaiﬁmmwmimil
(4) T 73 8 |

35 2
by { Tty ()1,{,1,25
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88. Who proposed ‘law ol exercise’ for learning ?

(1) B. F. Skinner (2) L P.Paviov
(3) W.Kdhler : (4) E. L. Thorndike
i 35 Fort P ‘o % g’ 1 i fn o 7
(1) & U, e (2) rd o Yaw
(3) T FTH (@) %o T U
89, Which of the following aspects is one aim of Mental Hygiene ?
{1) Preventive aspect (2) Constructive aspect
(3) Creative aspect {4) Developmental aspect

frofeag val i # o A s % gF RE
(1) Frbereaes d (2) SEATRE e
(3) ForeTs o (4) Trwrarees w&
00. Use of projective techniques is associated with assessment of
{1) Intelligence (2) Personality

{3) Creativity (4) Aptitude

ﬁmﬁ@@ﬁﬁmmﬁﬂmﬁéu%
() e (2) =afEe ®
(3) ;Fr:rsrﬁ?fmﬂ (4) g 4

(Contivs T

(36)
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9i. Personality of students is the result of
(1) only eavironment.
{2) only heredity.
(3) interaction between heredity and environment.

(4) upbtinging and education.

Rrenfifat 7 sufieey Ry 4

(1) ¥a@ ammm &7 |

(2} %t sgaifrman 5 |

(3) srgathieRa o are ) sifear = )
(4) e -9 3R fran @ |

92. Molivation is por refated to
(1) Change in energy,
(2) Affective arousal.

(3) Curiosity,

(4) Goal directed behaviour

siion Hafte 747 2
1) F=t & qfteefa §
(2) aT0% o & |
(3) frmm @ |

(+) TE-I SRR B )

g (Tura Oy
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03.

9.

Which of these inteltigence tests is used for children ?

(1) WAIS (2) Army Alpha test

(3) WISC-R (4} Army Beta test
Pyt o el 3 R W A B RA R 7

(1) a‘% 0, WTEe W, (2) il eH ThEm
(3) TG 3o THo Hln MR (4) i siter wlene
Which of the following is not a principle of child development ?
(1) Development proceeds from centre (o periphery.

(2) Development proceeds from specific to general.

(3) The rate of development is not uniform for all children.
(4) Development proceeds from near to far.

S 3 Q@ #R W am-feem @ figea 27
LH%FBW?FI?;H‘R,%T:TI%@ I 2 |

(1) fra = o Fafere R e o of AR

(3) mft avers & frem = @ guH T8 @ #

(4 formm o 5 e 8 LR S g ¢ |

(38)

({ emitinnie)
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Learning theory which emphasizes upon perception is
(1) Insight theory.

(2) Connectionist or bond theory.

(3) Operational conditioning theory.

(4) Classical conditioning theory.

mmﬁ@aﬁﬁmmmwﬁmmtaﬂ
(1) iegfe g
(2) ToER W 1 g

- (3) g s g

(4) Tt it Srgav g |

Which of the followi Ing is not a type of transfer of leammg 7
(1) Bilateral transfer,

(2) Vertical transfer.
(3) Horizontal transfer,
(4) Interschool transfer

{ .
(3] (Zirn gy
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97. Which of the following is nof related 1o the socio-psychological needs ot tie

85,

child 7

(1) Need for food

(2} Need for social approval

(3) Need for emotional security

(4) Need for cornpanionship

ﬁn%@aﬁﬁqmm%’wﬁﬁ-mamamﬁiﬁﬁéﬁﬁ Cr

(1) " Fi SAEEH
(2) Tenfis e 6 TEEH
(3) AT Qe i e
(4) T ) ST

Who among the following is ‘Type theorist of personality ?

(1} W. H. Sheldon (2) R. B. Catieil
{3y G W Aliport (4) H. J. Eysenck
e o & e & e 8 7

(1) 5= Th z"lr:f?ﬂ- (2) o Fo Fe
(3) ot T, (4) Tl ATHF

(40)

I;-Ci"-’ll TTREE
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9%, When a iwclve years old student, after language development, behaves like a
young child and talks childishly then this js example of which defensjve

mechanism 7
(1) Reaction formation - (2) Regression
(3) Displacement (4) Projection

mﬂmﬁmﬁmﬁmm%mmmﬁmmﬁmﬁmm
Mﬁé@ﬁaﬁﬁqwﬁfﬂm% 7

(1) wffrerm (2) wime
(3) fromms (4) wéw
LU0, Encoding and Retrieval are related to the process of
(1) Antention (2) Memory
(3} Perception - {4) Abstract thinking
ﬁﬁ%ﬁﬁwmmﬁmt,“t
(1) smum (2) =
(3) g (4) g e

101. Who needs guidance 7

(1} Mentally unhealthy students
(2) Intellectually disabled students
(3) Low achieving students

(4} All students

WRIEH ) ST R B & 2
(1) wmiftes ¥ & srereu R
(2) At w7 4 nem frenfd
(3) W 3Iveifely A P T
(4) i) R
(41)
(Turn Qvey
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102.

103.

Which of the tollowing is false about counselling ?

(1) Expert and trained counsellor is required.

(2) Face to face interaction between counsellor and counselle is necessary.
(3) Mutual trust is must.

(4) Confidentiality is not required.

frerfrfera 1 o w1 aoed % Rl frar 8 7

(1) Frqm 3 wfiifés wsizrn 1 e g 2 |
(2wt & w9 A i ST ST ST € |
(3) ot favam &1 §F Hfd s § |

(4) Tha-frran ot wré e TE

Which of the following evokes responses from the unconscious ?
(1) Rating scale

(2) Seciometric technique

(3) Personality inventory

(4) Projective technique

Brrffaa 3 8 T v B 3EAREN W Y FER 7

(1) tfén vt /e

(2) TATaIfAfe E

(3) ==t wReeh

(4) TEd TR

104, Ifastudenthasa chronological age of ten years and mental age of & years then

what will be hister 1.Q. 7
r{ﬁ%f&ﬁﬁﬁﬁﬁrﬁmaﬂﬁaﬂﬂﬁﬁ, 3 THIEE 5T 8 ad g, @ Eﬂﬁ‘gﬁ;ﬂﬁu

7 B 2

(1) 125 (2) 120 (3) 100 @) 80

(42) LComtipuedy
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SECTION—II
OR

ENGLISH

Note : Attempt all the 16 questions in this Section if you do not opt for Section-II
on Hindi Language Comprehension.
Four alternatives are given as possible answer to each question. Give the
cogrect choice as an answer

Direction (Q.Nos, 105-109) : Read the passage carefully given below and answer
the questions based on it.

When her grandmother's health began to deteriorate in the fall of 1994,
Mary would make the drive from Washington, DC to Winchester, Va,, every
few days. She hated highway driving, finding it ugly and monotonous, She pre-
ferred to 1ake meandering back roads to her grandmother’s hospital, When she
drove through the rocky town ef Harpers F erry, the beauty of the rotigh waters
churning at the intersection of the Shenandoah and Potomas rivers always cap-
tivated her. Toward the end of her journey, Mary actually did have to get on
highway 81. It was here that she discovered a surprising bit of beauty during
one of her trips. Along the median of the highway, there were a long stretch of
wild flowers. They were thin and delicate and purple, almost poetic in appear-
ance, :

The first time she saw the flowers, Mary was seized by an uncontrollable rge
to pull aver on the highway and yank a buach from the soil. She carrieg them

into her grandmother's room when she arrived at the hospital and placed them
in a water pitcher by her bed.

For a moment her grandmother seemed more fucid than vsual. She thanke
Mary for the flowets, commented on their beauty and asked where she had
gotten them. Mary was ovetoyed by the flowers'seeming ability t 1 o .

thing up inside her atting Ermdmother, ake some.

(43) i
(Tren Orer)
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Aflerwards, Mary began carrying sctssors in ihe car during her trips Lo visit
grandma. She would quickly glide onto the shoulder, jump out the car. and
clip a bunch of flowers. Each time Mary placed the flowers in the pitcher.
her grandmother's eyes would light up and they would have a splendid eon-
versation.

One morning in late October, Mary gota call that her grandmother had wke
aturn for the worse. Mary was in such a hurry to get 1o her grandmother that
she sped past her flower spof. She decided to turn around, iead several mites
back, and cut a bunch, Mary arrived at the hospital to find her prandmother
very weak and unresponsive. She placed the flowers in the pitcher and s
down to hold her grandmother's band. She felt a squecze on her fingers,
was the last conversation they had.

105, Choose the correcl sentence :
(1) She hated highway during, finding it ugly and tedious.
(2} She hated highway driving, finding itugly and confusing.
(3) She hated highway driving, finding it ugly and nerve-wracking.

(4) She hated hightway driving, linding it ugly and time consuming.

1136, Which best deseribes what stopping for flowers on (he side of tha highw s
became for Mary ?

(1) Monotonous (2) A ritual (3) Aregret {4) Tortrous

107. What other title would best fit this passage ?

“) "The Falf! (?.} 'On the Road’
(3) Conversations {4) ‘Living for Tomorrew'

(44} (Cosrtininiadf
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108. Why might ihe author have described the flowers as poetic 7
(1) The author wanted to depict this passage as & poem,

(2) The author wanted to convey that this type of flower had been written
about by poets,

(3) The author wanted to contrast the flowers with other flowers considered
less beautifuf.

(4) The author wanted to convey that Mary felt the flowers were as beautiful
45 VErses on a page.

109. What do the flowers secm to come to signify for Mary ?
(1) How beautiful the highways can be
(2) an opportunity to pull off on the side of the road
(3) A chance to converse with her grandmother

(4} a chance make the hospital roorm smells better

Directions (Q.Nos. 110 to 112) : Select the word nearest in meaning to the given

word, .

110. Changeable

(1) Varisble (2) Constant (3) Same ¢4} Flowing
111. Response
(1) Imposing  (2) Reaction (3) Mixing (4) Opposite
112, Appeal '
(1} Request (2) Apply (3) Received {4) Shout
(45)

(Tern Ovey)
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Directions {Q.Nus* 113 to 114) : Select the word opposite in meaning o the
given word, |

113. Foreigner

(1} Free (2) Nation {3-} Give comfort  (4) Native
114. Frequently

{I}Occasiuﬁally (2) Cheering (3) Appreciation  (4) Encore

Directions (.Nos. 115 to 116) : Sclect the most appropriate word(s) to fill in
the blanks.

115, Al s well tha —— Well,

(i) Begins (2) Starts {3) Moves- (4} Ends
116, Birds of a feather ——together.

(1) flock (2) fiy (3) cat (4) live

Directions (Q.Nos. 117 to 118) : Select the word which has been wrongly spelt -

117. (1) Incredible  (2) Vanished (3) Tempted (4) Deliciouse
118. (1) Familiar (2} Nervous {3) Instence (4) Superstitious
Directions (Q.Nos. 119 to 120) : Choose the most appropriate preposition to fild
in the biank.
119. Shehad decidedtoquit ____ Christmas, but changed her pian.
(1) Along {2] Before (5} About (4) Between

the snowfall, she decided to carry on with her journey

120.

(1) Despite (2) Although (3) But (4) As

(46) {Contimied)
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SECTION—I1
s - 11

OR (s )
=

ﬁ%ﬂ:ﬂﬂmw-llﬁﬁ#a@ﬁﬂm&aﬁﬂﬁ%mﬂ%w@ﬁm
wvE & ) sy § wedfas wf 16 s %I A )
Breffes S (1), (2), (3) T (4) F9% ¥ TH-w s Iw R W g,
fridviwdeit I e smR ghe)

121..‘Wﬁ'mf&#mﬁ1ﬁﬁ‘—?ﬁﬁm ri

M (@) s () g (&) R
122. W’mmmﬂqﬁ%ﬁﬁm ?

DEE:LH (2) Frwm (3) ST (4) R srarma
123. ‘% =R fem v H sl % i R 7

Ghem QW () ) e
124, ‘=0’ e = B, yoa 4 G Rt w9 v g 7

(1) ¥ (2) = () =R (4) s
125, ‘g 1 et wiy Rredg v & 7

MG T T gy @) T +w

(47)
(Turn Over)
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126. 590 wiodi o R=de 7 7

(¥FF+Tm (I +H (3) &7 + W (4) 3 + 39

127, @y 2 7on o vt ¥ A o o wm o R 7

(1) amrat (2) 7= (3) wrexmfert @
128, ‘wist’ = v Rem wn g ¢

(1) =2 (2) ¥ (3) 9™ (4) et
lzﬂ.mwmwﬁmﬁﬁﬁﬂmim@ﬂmﬁm?

(1) g forvafeenem (2) s = R

(3) Tt et (4) wo Rvafraaa
130. i ifa-wrrey 2 formm weamg Tl @ 7

(1) P (2) e PR

(3) e (4) R
131, ‘T = T R e R R

(1) ey e (3) T T

(3) IR TR (4) TN T

132, ik Tt e “oftar R k7
(1} qovet 3 (2) o

(3) Fom W

yT) owm raugg|

(43)
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